Week 12
Tuesday 9th June 2020
Year 5- Varied fluency
Please click on this link for more information: https://www.youtube.com/watch?v=woth8j3XbWw
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Estimate and Approximate

Estimate and Approximate

Ta. Match numbers which would add
together fo give an approximate answer
of 4100,

Tb. Match numbers which would add
together fo give an approximate answer
of 690.
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2a. Which mark on fhe number line below
shows approximately 4,5007

2b. Which mark on the number line below
shows approximately 8,0007
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3a. Choose the best calculation for an,
‘approximate answer of 830.

A 58 - 319
B s82 o+ 343
c 49+ a3

heig

approximate answer of 6,000.

A 3634+ 285
B 8208 - 2410
c. a7+ 993

hig

4a. Estimate the answers fo the following
calculafions:

A 5285 - 214
1495+ 6507
c o7s2 - 3w

hig

4b. Estimate the answers fo the following
calculations:

A w4+ 8382
B 434 - 7N
c. 9225 - 308

i
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Sa. Match numbers which would add
together fo give an approximate answer
of £78.

5b. Match numbers which would add
together fo give an approximae answer
of 5,890,
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7a. Choose the best calculation for an,
approximate answer of 13,000.

A 6427+ 5582
B 8591+ 4305
co1s218 - 3860

7

7b. Choose fhe best calculat
approximate answer of £48.

A £3032 + £2148
£8167 - £3344
C. 609+ £3850

g

8a. Estimate the answers fo the following
calculafions:

A 784+ 5790
B 39582 - 20405
C.oe7sel - £a827
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8b. Estimate the answers fo the following
calculaions:

A £5078 - £2302
B 56055 + 32894
c. 18439 - 825

hrig
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9a. Match numbers which would add
together fo give an approximate answer
of 8.700m.

9b. Match numbers which would add
together fo give an approximae answer
of £153.
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10a. Which mark on the number line
below shows approximately £9.407

10b. Which mark on the number line
below shows approximately 50,000m?

approximate answer of 16,000m.
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Tia. Choose fhe bestcalculaion for an | 116, Choose the best calculafion for an

approximate answer of 12.430m.

1
A 9175m + 34km

B 14317m 873m

3
95 km

c.

+ 2667m

12a. Estimate the answers fo the following
calculation:

'
A 34354cm + T4m

£295.73

4828p

C olkm + 1503m

A 8178p + £83236
il
B 84932m 95km
'
C. 83km - 6547m
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